Republic of the Philippines

CAVITE STATE UNIVERSITY Don Severino de las Alas Campus

Indang, Cavite, Philippines

(046) 4150-010 / (046) 4150-0013 loc 203

www.cvsu.edu.ph

INVITATION TO SUBMIT QUOTATION Supply and Delivery of Supplies and Materials for Coffee Forensics / DA-Biotech Project

 The Cavite State University (CvSU) invites interested firms/supplier to submit quotation for the project "Supply and Delivery of Supplies and Materials for Coffee Forensics / DA-Biotech Project" with an Approved Budget for the Contract (ABC) of One Hundred Twenty Thousang Five Hundred Forty Pesos Only (PhP 120,540.00). Quotation received in excess of the ABC shall be automatically rejected at the opening.

Item					= (10 /
No.	Quantity	Unit	Description	Unit Cost	Total Cost
1.	4	Units	Automatic Voltage Regulator, 3000W; servo motor; Input voltage: 140-250V, Output voltage: 110-220V; , with 4 universal outlet (3:220V &1: 110V, with grounding), 6months warranty	6,000.00	24,000.00
2.	2	Pcs	Stavol Automatic Voltage Regulator, 5000W; servo motor type; Input voltage: 140-250V AC, Output voltage:110V and 220V; Single Phase, 60Hz,Premium Quality 100%;Pure Copper Wire,Motor 100% True,utput Power With QC / ICC / DTI	9,000.00	18,000.00
3.	1	Units	Prolink 2KVA (UPS) Uninterruptible Power Supply; 1600W; Display LED/LCD; Input voltage 110- 300VAC/160-280VAC; Output:200/208/220/230/240VAC; Frequency 40Hz-60Hz; Battery backup time 5 to 30mins; 1 year warranty	20,000.00	20,000.00
4.	2	pcs	Notebook very thick, large, 400 pages ultra thick hard leather notebook, A5	600.00	1,200.00
5.	5	Pcs	Storage box plastic High Impact Resistant Storage Box 120 L (clear)	1,000.00	5,000.00
6.	8	Pcs	Storage box plastic High Impact Resistant Storage Box 30L (clear)	500.00	4,000.00
7.	5	Pcs	Sticker Paper, Matte, 10's/pack A4	70.00	350.00
8.	4	Box	Paper, multicopy, 80gsm, size: 210mm x 297mm (A4 size); ream	900.00	3,600.00
9.	2	Units	Extension cord; voltage surge protector; 2500W capacity; 10 Amp 250 Volt Parallel Outlet w/ Grounding; 6 ON/OFF Neon Switch with Breaker, Durable Steel Housing with Powder Coated Finish; 3 Parallel Outlets with Grounding Pin and 3 2-way Outlets; Royal Cord #16/3; 5 Meters; 1 circuit breaker	1,000.00	2,000.00
10.	1	Box	Dong-A My Gel pen, blue,0.5mm, 12pcs per box	400.00	400.00

11.	8	Pcs	Epson Ink T664 black, ink refill	300.00	2,400.00
12.	2	Pcs	512GB M.2 Nvme SSD PCle Gen3x4	4,800.00	9,600.00
13.	2	Pcs	Daimaru Mosquito Electric Insect killer: MS6W PLUS, Plastic, 220VAC, Single 6 wattssemi blacklight tube	1,500.00	3,000.00
14.	2	Pcs	Table Material: metal frame Color: Dark Oak Dimension: W110 x D55 x H75cm Normal drawer slide mechanism assembly required: YES	4,000.00	8,000.00
15.	1	Pc	2-4 ports USB 3.0 hub	550.00	550.00
16.	10	Packs	TISSUE ROLL, 12 pieces per pack	150.00	1,500.00
17.	3	Pcs	INSECTICIDE, aerosol type, net content: 500ml/328g min Preferred: Baygon	300.00	900.00
18.	3	Pcs	Hooded waste segration trash bin, color: blue,green and yellow size: 75L (medium) for lab. Use	3,500.00	10,500.00
19.	2	Pcs	mold and mildew cleaner spray 500mL	400.00	800.00
20.	2	Pcs	Anti-Mold Leather Spray, 120-250ml	600.00	1,200.00
21.	3	Pcs	Epson ink 003, black	280.00	840.00
22.	3	Pcs	Epson ink 003, Cyan	300.00	900.00
23.	3	Pcs	Epson ink 003, Magenta	300.00	900.00
24.	3	Pcs	Epson ink 003, Yellow	300.00	900.00
TOTAL AMOUNT					120,540.00

- 2. Delivery Period: ____ calendar days from the receipt of P.O.
- 3. Price quotations must be valid for a period of sixty (60) calendar days from date of submission and shall include all taxes, duties and/or levies payable. Bidders shall also indicate the brand and model of the items being offered.
- 4. Warranty shall be for a period of six (6) months for supplies and materials. Warranty for equipment must not be less than one (1) year from the date of acceptance and shall be accompanied with Warranty Certificate.
- 5. The quotation must be submitted to the Supply Office through mail, fax or email at the contact details listed below **on or before 5:00 PM** of **November 11, 2021**.

Address : Supply Office, Administration Building

Cavite State University

Indang, Cavite

E-mail : supplyoffice@cvsu.edu.ph

Telefax : (046) 862-0852

6. The CvSU reserves the right to reject any or all quotations and/or proposals and waive any formalities/informalities therein and to accept such bids it may consider as most advantageous to the agency and to the government. CvSU neither assumes any obligation for whatsoever losses that may be incurred in the preparation of bids, nor does it guarantee that an award will be made.

PRECIOSA G. ERAÑA
BAC Secretary, Goods and Services

Republic of the Philippines

CAVITE STATE UNIVERSITY Don Severino de las Alas Campus

Indang, Cavite, Philippines

(046) 4150-010 / (046) 4150-0013 loc 203

www.cvsu.edu.ph

INVITATION TO SUBMIT QUOTATION Supply and Delivery of Supplies and Materials for Coffee Forensics / DA-Biotech Project

 The Cavite State University (CvSU) invites interested firms/supplier to submit quotation for the project "Supply and Delivery of Supplies and Materials for Coffee Forensics / DA-Biotech Project" with an Approved Budget for the Contract (ABC) of One Hundred Twenty Thousang Five Hundred Forty Pesos Only (PhP 120,540.00). Quotation received in excess of the ABC shall be automatically rejected at the opening.

Item					= (10 /
No.	Quantity	Unit	Description	Unit Cost	Total Cost
1.	4	Units	Automatic Voltage Regulator, 3000W; servo motor; Input voltage: 140-250V, Output voltage: 110-220V; , with 4 universal outlet (3:220V &1: 110V, with grounding), 6months warranty	6,000.00	24,000.00
2.	2	Pcs	Stavol Automatic Voltage Regulator, 5000W; servo motor type; Input voltage: 140-250V AC, Output voltage:110V and 220V; Single Phase, 60Hz,Premium Quality 100%;Pure Copper Wire,Motor 100% True,utput Power With QC / ICC / DTI	9,000.00	18,000.00
3.	1	Units	Prolink 2KVA (UPS) Uninterruptible Power Supply; 1600W; Display LED/LCD; Input voltage 110- 300VAC/160-280VAC; Output:200/208/220/230/240VAC; Frequency 40Hz-60Hz; Battery backup time 5 to 30mins; 1 year warranty	20,000.00	20,000.00
4.	2	pcs	Notebook very thick, large, 400 pages ultra thick hard leather notebook, A5	600.00	1,200.00
5.	5	Pcs	Storage box plastic High Impact Resistant Storage Box 120 L (clear)	1,000.00	5,000.00
6.	8	Pcs	Storage box plastic High Impact Resistant Storage Box 30L (clear)	500.00	4,000.00
7.	5	Pcs	Sticker Paper, Matte, 10's/pack A4	70.00	350.00
8.	4	Box	Paper, multicopy, 80gsm, size: 210mm x 297mm (A4 size); ream	900.00	3,600.00
9.	2	Units	Extension cord; voltage surge protector; 2500W capacity; 10 Amp 250 Volt Parallel Outlet w/ Grounding; 6 ON/OFF Neon Switch with Breaker, Durable Steel Housing with Powder Coated Finish; 3 Parallel Outlets with Grounding Pin and 3 2-way Outlets; Royal Cord #16/3; 5 Meters; 1 circuit breaker	1,000.00	2,000.00
10.	1	Box	Dong-A My Gel pen, blue,0.5mm, 12pcs per box	400.00	400.00

11.	8	Pcs	Epson Ink T664 black, ink refill	300.00	2,400.00
12.	2	Pcs	512GB M.2 Nvme SSD PCle Gen3x4	4,800.00	9,600.00
13.	2	Pcs	Daimaru Mosquito Electric Insect killer: MS6W PLUS, Plastic, 220VAC, Single 6 wattssemi blacklight tube	1,500.00	3,000.00
14.	2	Pcs	Table Material: metal frame Color: Dark Oak Dimension: W110 x D55 x H75cm Normal drawer slide mechanism assembly required: YES	4,000.00	8,000.00
15.	1	Pc	2-4 ports USB 3.0 hub	550.00	550.00
16.	10	Packs	TISSUE ROLL, 12 pieces per pack	150.00	1,500.00
17.	3	Pcs	INSECTICIDE, aerosol type, net content: 500ml/328g min Preferred: Baygon	300.00	900.00
18.	3	Pcs	Hooded waste segration trash bin, color: blue,green and yellow size: 75L (medium) for lab. Use	3,500.00	10,500.00
19.	2	Pcs	mold and mildew cleaner spray 500mL	400.00	800.00
20.	2	Pcs	Anti-Mold Leather Spray, 120-250ml	600.00	1,200.00
21.	3	Pcs	Epson ink 003, black	280.00	840.00
22.	3	Pcs	Epson ink 003, Cyan	300.00	900.00
23.	3	Pcs	Epson ink 003, Magenta	300.00	900.00
24.	3	Pcs	Epson ink 003, Yellow	300.00	900.00
TOTAL AMOUNT					120,540.00

- 2. Delivery Period: ____ calendar days from the receipt of P.O.
- 3. Price quotations must be valid for a period of sixty (60) calendar days from date of submission and shall include all taxes, duties and/or levies payable. Bidders shall also indicate the brand and model of the items being offered.
- 4. Warranty shall be for a period of six (6) months for supplies and materials. Warranty for equipment must not be less than one (1) year from the date of acceptance and shall be accompanied with Warranty Certificate.
- 5. The quotation must be submitted to the Supply Office through mail, fax or email at the contact details listed below **on or before 5:00 PM** of **November 11, 2021**.

Address : Supply Office, Administration Building

Cavite State University

Indang, Cavite

E-mail : supplyoffice@cvsu.edu.ph

Telefax : (046) 862-0852

6. The CvSU reserves the right to reject any or all quotations and/or proposals and waive any formalities/informalities therein and to accept such bids it may consider as most advantageous to the agency and to the government. CvSU neither assumes any obligation for whatsoever losses that may be incurred in the preparation of bids, nor does it guarantee that an award will be made.

PRECIOSA G. ERAÑA
BAC Secretary, Goods and Services